Ne ApTUKYn HanmeHoBaHue Kon
1 Bont M8x30

2 Malika M8

3 |vD16-0003 Pama (3,4)

4 Bubporacurens

5 BuHT M5x85

6 LWaiiba M5

7 |vD16-0007 KpbiwKa 3aaHAA

8 |vD16-0008 Kopnyc Bbikntovatensa

9 |vD13-0010 LUHyp ceTeBoM

10* |VD16-0010-1

BbliKntoYaTenb OCHOBHOM

10**VD16-0010-2

ABTOMaAT 3aLLUTHbIN 8A

11

BuHT M4x16

12 (VD16-0012

KpbllWwKa weTkogepatens

13* |VD16-0013-1

LleTkoaep»KaTenb

13**|VD16-0013-2

LLLeTKM yronbHble

14 (VD16-0014

Kopnyc cTratopa

15 [VD16-0015 Cratop

16 dukcatop

17 BMHT M5x85

18 (VD16-0018 MbINbHMK cTaTOpa
19 (VD16-0019 MpomwuT

20 LWalba

21 MoawnnHUK

22 |VD16-0022 Akopb (20,21,23)

23 MoawnnHuk

24 |VD16-0024 MNepenHAA KpbiWKa
25 BMHT M5x65

26 |VD16-0026 KoHHeKTOop

27 BuHT M5x23

Mr|bd|Rr|R|IR|IR|IR|IR|IRIN|IN|R|IR|IRINININ R R RPIR|IRID DD

Bubpartop rnybuHHbIN

Moaenb

VD1620Z

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA |

Page 1




